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WiER LEBEmTRREREREES

% # A - BRHE By ¥ 8 i & & =
BRI 56,963,280 + 9,859,728 66, 823, 008
EEAGHE 56, 963, 280
EERE 9,859, 728
Z Ot R 1 56,963,280 x 42.86% ( 30% + (1 — 30%) ) 24,414, 461
EBIRME 66,823,008 + 24,414, 461 91, 237, 469
—REEERE 91,237,469 x 53.85% (35% + (1 — 35%) ) — 8,846 49,122, 531
EX T 91,237,469 + 49,122,531 140, 360, 000
HEGEHELE 140, 360, 000 x 10. 00% 14,036, 000
¥BERH 140, 360, 000 + 14, 036, 000 154, 396, 000




BEARRE LESEmIRNERERYERE

% [ BiE - BTk Bifip B B T # m B
BRI 66, 823, 008
BTRKREZEHBERS 66, 823, 008
BT REZEMHBES 66, 823, 008
BITIKRHEREHBES 56, 963, 280
BT REZEHBES 56, 245, 680
1 ETRREREHEEH 24.00 2,343,570 56, 245, 680
A
Te&e 662, 400
2 {TAE 24.00 21, 600 662, 400
&
ek - WS 55, 200
3 & - W& 1.00 55, 200 55, 200
=
EEEE 9,859,728
EHARE 543,909
4 EHARE 1.00 543,909 543, 909
=
BHEERARE 1,087,819
5 BEMERRE 1.00 1,087,819 1,087,819
=
EFFAEDEEN S L VEGRES 3, 600, 000




WERNRE REESHIRREDSHYES
% # i - T ik By = ¥ ¢ = # =
6 ¥BAEPEENS S VEGES 1.00 3, 600, 000 3, 600, 000
=
BEY 92, 000
T EBHRRE 1.00 92,000 92,000
=
EBREBERNB L URAES 4,536,000
8 XBAEBEENSIVHRES 1.00 4,536, 000 4,536, 000
=
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LEEFEITIKRERFHMES

&5 1
2 IR HEREMEER 1A4Y
2 [ g - BKTE BAGL H = B % 5 &
BERME A (A)
A 1. 40 55, 200. 00 717, 280
EHLEME HEm (C)
=® 1.00 2,266, 290. 00 2,266, 290
& it YE%8eh - 1.008 2,343, 570. 00 2,343,570
52
& TEE 1EH Y
% b A - kTE By H = B %8 i &
BERME HEm (A)
A 0.50 55, 200. 00 217, 600
& &t YEZREH - 1.00E= 27, 600. 00 27,600
&5 :3
2 & - |BE 1KLY
2 L g - BRKTE BAGL H = B %8 5 &
HFEEME HEm (A)
A 1.00 55, 200. 00 55,200
& it YEZEEH - 1. 00K 55, 200. 00 55, 200
5:4
& EERARE 1KLY
% b A - BkTiE By H = B %8 i &
EERARE
= 1.00 543, 909. 00 543, 909
& R fEEEEH - 1.00K 543, 909. 00 543,909
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LEEFEITIKRERFHMES

E5:5
2% EERERARE 1KLY
2 L g - BRKTE =-Rivd = B %8 W = 5 &
EHBEREE
= 1.00 1,087, 819. 00 1,087, 819
& it fEErEH : 1.00 1,087, 819.00 1,087, 819
&5 :6
&2 XBABEHEERPS L VEGES 1KLY
% b A - kTE By = B %8 = i &
54 kY 1. 5L
= 1.00 3,600, 000. 00 3, 600, 000
& &t fEEEEH - 1.00K 3, 600, 000. 00 3, 600, 000
&5 :1
&% EBRRSE 1KLY
£ L g - BRKTE By = B % W = 5 &
XBEBRRSE
= 1.00 92, 000. 00 92, 000
& &t fEEEEH - 1.00K 92, 000. 00 92,000
5:8
2 XBASBEEEHRPS LIV HERES 1KLY
2 L g - BRKTE =-Rivd = B %8 W = 5 &
=%
= 1.00 4,536, 000. 00 4,536, 000
& B fEErEH : 1.00 4,536, 000. 00 4,536, 000




